

VILLAGE RESIDENTIAL AND CBC

ESTIMATED NUMBERS!!!

$\$7,945,160/400 = \$19,863$

(winter tax bill amount amortized over 40 yrs. $\$1072/\text{yr.}$)

PROPOSED/POTENTIAL GRANT FUNDING UP TO 45%

$.55 \times \$19,863 = \$10,826$

(winter tax bill is $\$584/\text{yr.}$)

RAINBOW'S END TRAIL

ESTIMATED NUMBERS!!!!

$\$855,261/30 = \$28,509$

(winter tax bill amount is \$1538)

PROPOSED/POTENTIAL GRANT FUNDING UP TO 45%

$.55 \times \$28,509 = \$15,680$

(winter tax bill is \$846)

Village/CBC	400 REUs
Victor/Nabanois/Club	90 REUs
Rainbow's End Trail	30 REUs
Marineland/Gratiot	120 REUs

ALL FOUR PHASES COMBINED

ESTIMATED NUMBERS!!!

$\$13,935,141/640 = \$21,774$

(winter tax bill amount is \$1176)

PROPOSED/POTENTIAL GRANT FUNDING UP TO 45%

$\$21,774 \times .55 = \$11,975$

(winter tax bill is \$646/yr. for 40 yrs.)

NABANOIS VICTOR CLUB, ETC.

ESTIMATED NUMBERS!!

\$2,336,707/90 = \$25,963

(winter tax bill amortized over 40 yrs. \$1400/yr.)

PROPOSED/POTENTIAL GRANT FUNDING UP TO 45%

(\$14,280 AMORTIZED OVER 40 YRS \$770/YR.)

MARINELAND AND GRATIOT, ETC.

ESTIMATED NUMBERS!!!

$\$2,333,997/120 = \$19,450$

(winter tax bill amortized over 40 yrs. \$1050/yr.)

PROPOSED/POTENTIAL GRANT FUNDING UP TO 45%

$\$19,450 \times .55 = \$10,700$

(winter tax bill is \$580/yr.)